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| PART A: Vocabulary
| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then

| mark the correct choice on your answer sheet.

1-  This evening's meeting is one in which important issues would be discussed; your
attendance i§ -———------ .

1) obligatory 2) didactic 3) relevant 4) explicit

2-  After a long ------- -— between the former husband and wife over the custody of the child,
the court finally decided to grant the custody to the mother.
1) contradiction 2) cruelty 3) squabble 4} hesitation

3-  In Australia, animals are reared on crop residue. Without the animals, these residues
would have to be —-———-=- by other means before another crop can be grown—often by
burning.
1) deprived of 2y disposed of 3) resorted to 4) alluded to

4-  Unable to ---———- the tyrannical rules and regulations at the hostel, young Vivian thought
of escaping in the dark of the night.
1) scold 2) acclaim 3) bear 4) treat

5-  Why do some animals, such as humans, ----—--- to sleep, whereas others, such as elephants
and giraffes, stand?
1) require 2) snore 3) setup 4) lie down

6-  With sixteen victories in a row, the Australian cricket team was looking quite unassailable,
but they were finally ----—-- at the hands of the Indians.
1} dispersed 2) vangquished 3) confronted 4) disregarded

7-  The salesboy tried to persuade the old man te buy goods from him, but had to give up
when the old man told him ——-—------ that he would not buy anything from him.
1) arbitrarily 2) haphazardly 3) unequivocally  4) necessarily

5- But he had become —------—- to the rush and whirr of missiles, and now paid no heed
whatever to them.
1) inured 2) rendered 3) constrained 4) affirmed

9-  The judge openly associated with racist organizations; nevertheless, he showed no
-------- in his decisions during his career.

1) uniqueness 2) dexterity 3) gratitude 4) prejudice

10- 1 don't have any explanation for his -——----- behavior at last night's party, though I'm
sure that he is quite apologetic about it.
1) credible 2) resolute 3) distinct 4) bizarre

| PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| cach space. Then mark the correct choice on vour answer sheet.

Where do such creative sparks come from? How can we conjure them whenever we want?
And why can that be (11) --—--—---—-- anyway? A complete understanding isn’t here vet,
(12) -=mmmem- neuroscientists are already on the trail of (13) ---——-----. They also have some
good news for each of us (14) -----—--- to ignite those inventive fires. As it turns out.
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(15) ===-=----- our own muse may be easier than we think. especially if we learn to make a
habit of it.
11- 1) infernally difficult so to do 2) so infernally difficult to do
3) difficult infernally to do so 4) to do so infernally difficult
12- 1) in spite of 2) however 3) nonetheless 4) but
13- 1) where and how does creativity arise  2) creativity how and where it arises
3) where and how creativity arises 4) creativity does arise where and how
14- 1) who has ever struggled 2) struggled ever
3) have ever struggled 4) ever to struggle
15- 1) wetap 2) when we tap 3) and taps 4) tapping

| Part C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4). Then
mark it on your answer sheet,

16-

17-

18-

19-

PASSAGE I:

The engine surge is the result of compressor stall in the jet engine. As a result. the
complete engine may stall. This is a rare event, appearing first as a loud bang. The air
flowing over the compressor hlades stalls just as the air over the wing of an airplane.
When airfoil stall oceurs, the passage of air through the compressor becomes unstable
and the compressor can no longer compress the incoming air. The high-pressure air
behind the stall further back in the engine escapes forward through the compressor, and
out of the inlet. This escape is sudden. like an explosion. Engine surge can be
accompanied by visible flames outside the inlet or in the tail pipe. Often the event is so
quick that the instruments do not have time to respond. Generally, the instability is self-
correcting. In modern engines there are surge valves that pump the disturbed low out
of the engine. and thus decrease the risk of instability.

Engine surge is a jet engine phenomenon that oceurs:

1) usually when flame is cut off

2) every time the airplane stalls

3) if the airplane is not fast enough

4) when the flow separates over the compressor blades

The loud bang is associated with:

1) combustion instability

2) discharge of air through nlet

3) instability of compressor blades

4) sudden flame at tailpipe

Generally which type of engine is geometrically more complicated?

1) Turbotan 2) Scramjet

3) Ramjet 4) Liquid tuel rocket engine
What does *rare” mean in the third sentence?

1) common 2) dangerous 3) harsh 4) scarce
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20-

21-

22-

24-

What is the remedy after compressor in surge modern engines?
1) Sudden fuel injection

2) Opening the engine valve

3) Preventing the compressor stall

4} Discharging the distorted air from the engine

PASSAGE 2:

It is not surprising that the majority of early flight initiatives were based on the flight of
birds. This stimulated omithopter designs, flying machines with flapping (muscular-
powered) wings. The well-known illustrations by Leonardo da Vinci (1452-1519) show
the early mind-set. The brilliant Florentinian did not only conceive ornithopters, but also
produced the first sketches of a parachute and a rotor. It is unlikely that these drawings
ever led to a full-scale model, as da Vinci must have anticipated with his extensive
knowledge of the human body that its muscles could never be sufficiently powerful to
make sustained {light in such a way. The English physicist Robert Hooke (1635-1703),
contemporary and friend of Isaac Newton (1642-1727), experimented without success
with ornithopter-type models. Outside of these attempts. there was little rigorous
thought towards practical aviation before the end of the 18th century. Because da Vinci's
work was not unveiled until 1795, it could not have had much influence on other
researchers at the time.

What does the *stimulated™ means in the second sentence?

1} artificial 2) imitation 3) inspired 4) synthetic

Who or what is referred “Florentinian” in the passage?

1) Early days omithopters

2) First sketches of a parachute

3) Leonardo da Vinci

4) The drawings of the da Vinci

Which one of the following sentences are true?

1} da Vinei did not like the ormithopters

2) da Vinci predicted that human can fly like birds

3) da Vinei built a full scale model based on his drawings

4) da Vinci knew that the human muscles cannot generate enough power for ornithopters
What does “contemporary™ means in the above passage?

1) concurrent 2) engineer 3) modern 4} scientist

The da YVinei's work could not have had much influence on other researchers, because:
1) It was not influential until 1795,

2) It was not shown until 1795.

3) The limitation of human muscular power

4) The technology did not let them to build ornithopter until 1795,

PASSAGE 3:

The development of the gas turbine engine as an aircraft power-plant has been so rapid
that it is difficult to appreciate that prior to the 1950s very few people had heard of this
method of aircraft propulsion. The possibility of using a reaction jet had interested
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26-

aircraft designers for a long time, but initially the low speeds of early aircraft and the
unsuitably of a piston engine for producing the large high velocity airflow necessary for
the jet presented many obstacles.

The jet engine. although appearing so different from the piston engine-propeller
combinations, applies the same basic principles to affect propulsion. Both propel their
aircraflt solely by thrusting a large weight ol air backwards. Although today jet
propulsion is popularly linked with the gas turbine engine, there are other types of jet
propelled engines. such as the ram jel. the pulse jel. the rocket. the turbo/ram jet. and
the turho-rocket.

Jet propulsion is a practical application of Sir Isaac Newton’s third law of motion
which states that, “for every force acting on a body there is an opposite and equal
reaction”. For aircraft propulsion the * body ™ is atmospheric air that is caused to
accelerate as it passes through the engine. The force required to give this acceleration
has an equal effect in the opposite direction acting on the apparatus producing the
acceleration. A jet engine produces thrust in a similar way to the engine/propeller
combination.

The jet propulsion engine. whether rocket or turbo-jet. is a piece of apparatus
designed to accelerate a stream of air or gas and to expel it at high velocity, There are,
of course, a number of ways of deing this. but in all instances the resultant reaction or
thrust exerted on the engine is proportional to the mass or weight of air expelled by the
engine and to the velocity change imparted to it. The types of jet engine. whether ram
jet. pulse jet. rocket. gas turbine. turbo/ram jet or turbo-rocket. differ only in the way in
which the “thrust provider™, or engine, supplies and converts the energy into power for
flight. The mechanical arrangement of the gas turbine engine is simple. for it consists of
only two main rotating parts, a compressor and a turbine, and one or a number of
combustion chambers.

At aircraft speeds below approximately 450 miles per hour. the pure jet engine is less
efficient than a propeller-type engine, since its propulsive efficiency depends largely on
its lorward speed: the pure turbo-jet engine is therefore. most suitable for high forward
speeds. The propeller efficiency does, however, decrease rapidly above 350 miles per
hour due to the disturbance of the airflow caused by the high blade-tip speeds of the
propeller. These characteristics have led to some departure from the use of pure turbo-
jet propulsion where aircraft operate at medium speeds by the introduction of a
combination of propeller and gas turbine engine. The advantages of the propeller/turbine
combination have to some extent been offset by the introduction of the by-pass. ducted
fan and prop-fan engines. These engines deal with larger comparative airflows and lower
jet velocities than the pure jet engine. thus giving a propulsive efficiency which is
comparable to that of the turbo-prop and exceeds that of the pure jet engine.

According to the passage, which of the following is incorrect”

1) Gas turbine engines were used as aircraft powerplant.

2) Aircraft propulsion development was faster tea turbine’s.

3) Aircraft powerplant developed through the development of the gas turbine engine.

4) Prior to 1950 s, common people did not know about the relationship between gas
turbine and aircraft powerplant.
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27-

28-

30-

What is the main principle that governs jet engines?

1) Action and reaction 2) Gas turbines

3) Newton's laws 4) Propeller

What is the distinction of different types of jet engines?

1) Inlets 2) Propeller 3) Turbine 4) Thrust provider

Which of the followings were obstacles in the way of development of jet engines?

1) The low speeds of early aircraft and the low airflow produced by piston engines.
2) Aircraft dependency on turbine engines and their awkward structures

3) There were not any obstacles and their development was so rapid.

4) The problem of unavailability of gas turbine.

The paragraph following the text probably discusses:

1) An elaborative background about reciprocating engines and their advantages.

2) The advantages and some specifications of different tvpes of jet engines.

3) The uses of different types of engines in appropriate situation

4) Explanation about jet engine’s system.
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